Departamento Técnico TUBELITE

MEXICO

GUIA DE INSTALACION DE STAND

CG-100/130AR

Esta guia explica el armado de las piernas del stand
Asegure de entender el manual antes de ensamblar

j [l Be sure to assemble with two or more people.

Accessories
If there is a shortage of parts or a problem, please contact your local distributor or MIMAKI sales office.
Leg x2 Caster holder x2 Leg stay x1 Base plate S x 2 Roll holder x2
JRN
0
SUNN
\\
Roll bar x2 Roll stay Left x1 Hexagonal wrench Tightening pipe x 1
(4mm)x 1

S N

Screws (M5x25) x4 Screws (M5x15) x 14 Screws (M5x20) x4

%
- T

How to tighten the screws

1 Use hex wrench to temporarily tighten the 2 Push the hex wrench into the tightening pipe
screws (just tighten lightly). and retighten the screw.

24 b

< T

g i
/.\1’2 /=’\l2



Departamento Técnico tygeLiTe

MEXICO

l

1 Turn the Leg upside down to make it stand on
its own by using the cushioning material
(upper side) in which the main body was
packed.

» Assemble the right and left legs. g u

No good —p»

5 Usethe cushioning materials (upper side)
again to make the legs (Right and Left) stand
on their own.

1. Push the cushioning material until it touches the legs.
2. Push the cushioning material until it touches the floor.

PYies

2 Fix the Caster holder to the Leg.

» Secure it with the 3 screws (M5x15).
* Assemble the right and left legs.

6 Attach the Base plate S to the Leg.

» Fix the base plate to the leg with 2 screws (M5x15)
while pushing it in the direction indicated by arrow.

» Assemble the right and left legs.

3 Remove the cushioning material and turn the
legs back in their original direction.

LN

0 [l Pay attention to the mounting direction.



Departamento Técnico tygeLiTe

MEXICO
7 Attach the screws (M5x15) with make a gap 1. Align the protruding part of the leg with the hole on
between. the bottom of the main unit (the V mark on the side of

the main unit is a guide) and insert.

* Assemble the right and left legs. 2. Make sure that the rubber foot on the bottom of the

unit is set on the leg.
. [ 3. Set the other side in the same way.
® | ;
N
. Gap
I
. = \

Rubber

e J
e P E DAY el

~. ‘
(T \ Al
. o E — ——
Pro{rusion ‘
0 O Pay attention to the installation position. I O The unit should be lifted by two or more people.
8 Attach the Leg stay to the left and right legs. 11 Push the main unit to the front side and fix it to
1. Hook the leg stay onto the screws installed in step 7. the leg with 2 screws (M5x20).
2. Tighten the screw temporarily (just tighten lightly). * Push the main unit toward the front side until there is
no gap between the protrusion on the rear side of the
[ leg and the insertion hole on the bottom of the main
@ ’ @ 52 unit and secure it.
7@10 = » Set the other side in the same way.

[0 Attach the leg stay so that the openings of the left
0 and right legs are on the inside.

9 Lock the casters.

0 Tighten the fixing screws until the convex part of
o the leg lightly touches the bottom of the side plate

GR. Take care not to over-tighten the screws.

Oo [ n °p
\n&@@tﬂn@” |

10 ——= =

Bottom of

10 Mount the Main unit on the legs. side plate GR

Leg Conve)”(ity



Departamento Técnico

12 Remove cushioning materials.

13 Attach the Roll stay right to the leg.

» Secure it with 2 screws (M5x25).

» For installation on the front side of the main unit:
Attach the roll stay right to the left side when viewed
from_the front of the main unit.

» For installation on the back side of the main unit:
Attach the roll stay right to the left side when viewed
from the back of the main unit.

AW

\ ; U Theroll stay can be installed to either the front or
:gi the back of the main unit.

14 Attach the Roll stay left to the opposite leg.
Secure it with 2 screws (M5x25).

TUBELITE

MEXICO

15 Attach the Roll holders on the Roll bar.

 Attach the roll holders to the roll bar from the side with
no stopper to make the flange of the roll holders face
each other.

4—Stopper (screw)

V2

16 Place the roll bar on the roll stay.

» Hold the side with the stopper on the roll bar in your
left hand and place it on the roll stay.

17 Fully tighten the screws on the leg stay.

=

=i

I
e "

A
® UMD-
]

()@
(.~

[1 Turn the roll bar manually to ensure it rotate
smoothly. If it gets stuck or has trouble rotating,
loosen the screws that have been tightened,
adjust the left and right legs so that they are
parallel, and then tighten the screws.

S



	Página 1
	Página 2
	Página 3
	Página 4

